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QUESTION 1

What is the easiest way to enable SD-Access for all your remote sites after you have your campus SD-Access fabric up
and running?

A. Treat all sites as one fabric domain and use the traditional physical network as the underlay.

B. Use a separate fabric domain for each site and use SD-WAN as the underlay.

C. Use a separate fabric domain for each site and use the traditional physical network as the underlay.
D. Treat all the sites as one fabric domain and use SD-WAN as the underlay.

Correct Answer: D

QUESTION 2

Which two activities should occur during an SE\\'s demo process? (Choose two.)

A. determining whether the customer would like to dive deeper during a follow up.

B. asking the customer to provide network drawings or white board the environment for you.
C. identifying which capabilities require demonstration.

D. leveraging a company such as Complete Communications to build a financial case.

E. highlighting opportunities that although not currently within scope would result in lower operational costs and
complexity.

Correct Answer: CE

QUESTION 3

Which is a benefit of a cloud-based SD-WAN deployment?

A. might be required for compliance with industry standards

B. controller availability never an issue

C. security never an issue

D. agility of change dependent only on your own internal IT processes
E. instant scale

Correct Answer: E

QUESTION 4
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What statement is true regarding the current time in Enterprise Networking history?
A. advent of cloud computing

B. pace of change

C. pervasive use of mobile devices

D. advent of loT

Correct Answer: B

QUESTION 5

Which are two Cisco recommendations that demonstrates SDA? (Choose two.)

A. Use the CLI to perform as much of the configuration as possible.

B. Show the customer how to integrate ISE into DNA Center at the end of the demo.
C. Focus on business benefits.

D. Keep the demo at a high level.

E. Be sure you explain the major technologies such as VXLAN and LISP in depth.

Correct Answer: CD
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